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1)6(2X5)-12+2 =
2) 3+5%2-(1+3?%) =
3)1.43-0.28 =

4) 0.25 + 0.246 =

5) 0.00049 + 0.007 =
6) 1.9 X 0.025 =
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10) 2% 106 X9 x 10+ =

11)24x10% + 3x10*12 =
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X ~ Position : &Lt si gggtl — [M]

m — mass : dsI— [kg]

d — distance : il — [m]

X — Displacement : i3y — [m]

v — speed : dld)l dsudl — [m/s]

v — velocity : dgatl és it — [M/S]

v — acceleration : ¢ L — [Mm/s?]

F — Force : 551 — [N]

t — time : oo — [s]

E — Energy : @wn — [J]
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F=ma=mg — s
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V=T—>&.c,udl
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a=T—>&,w|

A = Final (g —initial (glay) —  psedl jluie
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Power Prefix Symbol
10712 Pico P
10° nano n
10°® micro v
103 milli m
102 centi C
10" deci d
10%3 kilo k
10%° Mega M
10™° Gega G
10*12 Tera T
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sin(0).— (@)= , cos(B) = (»)i>z , tan(0) — (@)L

0 sin cos
0 0 1
30 0.5 V32
45 12 12
60 V3 =2 0.5
90 1 0
180 0 -1
270 -1 0
360 0 1
sin (120) =
cos (150) =
sin (210) =
cos (300) =
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